$$
\begin{aligned}
& \text { 9-6-13 } \\
& 3^{r d} \text { Trig } \\
& \text { (1) Simplify } \frac{6 a^{4} b^{2} c}{8 a b^{3} c^{2}} \\
& \frac{3 \text { 6aakpb } \&}{8 a b o b b c}=\frac{3 a^{3}}{4 b c} \\
& 4 \\
& \text { (2) simplify } \frac{a^{-3} b^{2}}{a^{-1} b^{-3}} \\
& \frac{a b^{2} b^{3}}{a^{3}}=\frac{d b b b b b}{4 a a}=\frac{b^{5}}{a^{2}}
\end{aligned}
$$

(3) Simplify $\left(\frac{2}{y^{3}}\right)^{-2}$

$$
\begin{array}{r}
\left(\frac{2}{y^{3}}\right)^{-1 \cdot 2}=\left(\frac{y^{3}}{2}\right)^{2} \\
\frac{y^{3}}{z} \cdot \frac{y^{3}}{z}=\frac{y^{6}}{4}
\end{array}
$$

(4) Simplify $\left(\frac{a^{-3} b}{5}\right)^{-2}$
$\left(\frac{b}{5 a^{3}}\right)^{-1 \cdot 2}=\left(\frac{5 a^{3}}{b}\right)^{2}$

$$
\frac{5 a^{3}}{b} \cdot \frac{5 a^{3}}{b}=\frac{25 a^{6}}{b^{2}}
$$

(5) Simplify $\left(\frac{2 a^{-2} b}{3^{-1} b^{2}}\right)^{-2}$
$\left(\frac{2 b \cdot 3}{a^{2} b^{2}}\right)^{-2}$
$\left(\frac{6}{a^{2} b}\right)^{-1 \cdot 2}=\left(\frac{a^{2} b}{6}\right)^{2}$

$$
\frac{a^{2} b}{6} \cdot \frac{a^{2} b}{6}=\frac{a^{4} b^{2}}{36}
$$

(6) Simplify $\left(\frac{2}{5}\right)^{-2}$

$$
\left(\frac{2}{5}\right)^{-1 \cdot 2}=\left(\frac{5}{2}\right)^{2}=\frac{5}{2} \cdot \frac{5}{2}=\frac{25}{4}
$$

(7) Simplify $(-1)^{-3}$

$$
\left(\frac{-1}{1}\right)^{-1 \cdot 3}\left(\frac{1}{-1}\right)^{3}=(-1)^{3}=-1 \cdot-1 \cdot-1=-1
$$

(8) Simplify $(-2)^{-2}$

$$
\left(\frac{-2}{1}\right)^{-1 \cdot 2}=\left(\frac{1}{-2}\right)^{2}=\frac{1}{-2} \cdot \frac{1}{-2}=\frac{1}{4}
$$

(19)

$$
\begin{aligned}
& \left(\frac{2 x^{4}\left(y^{-1}\right)}{5 x^{3} y^{2} z}\right)^{-2} \\
& \left(\frac{2 x x x x}{5 x x x y y z}\right)^{-1 \cdot 2} \\
& \left(\frac{2 x}{5 y^{2} z}\right)^{-1 \cdot 2} \\
& \left(\frac{5 y^{2} z}{2 x}\right)^{2} \\
& \frac{5 y^{2} z}{2 x} \cdot \frac{5 y^{2} z}{2 x}=\frac{25 y^{4} z^{2}}{4 x^{2}}
\end{aligned}
$$

(10)

$$
\begin{aligned}
& \text { Simplify }\left(7^{6} \cdot 7^{3}\right)^{10} \\
& (7 \cdot 7 \cdot 7 \cdot 7 \cdot 7 \cdot 7 \quad 7 \cdot 7 \cdot 7)^{10} \\
& \left(7^{9}\right)^{10} \\
& 7^{9} \cdot 7^{9} \cdot 7^{9} \cdots \cdot=7^{90}
\end{aligned}
$$

(II) Simplify $\left(2^{4} \cdot 2^{2}\right)^{7}$

$$
\begin{gathered}
(2 \cdot 2 \cdot 2 \cdot 2 \cdot 2 \cdot 2)^{7} \\
\left(2^{6}\right)^{7} \\
2^{42}
\end{gathered}
$$

$$
\begin{aligned}
& \text { 9-6-13 } \\
& 4^{2 n} \text { Trig } \\
& \text { (1) simplify } \frac{6 a^{3} b c}{10 a b^{3} c^{2}} \\
& \frac{{ }^{3} 6 a a a y c}{516 a p b b c} \frac{3 a^{2}}{5 b^{2} c} \\
& \text { (2) Simplify } \frac{a^{-3} b^{2} c^{-1}}{a b^{-2} c^{-3}} \\
& \frac{b^{2} c^{3} b^{2}}{a^{3} c a}=\frac{b b c c \neq b b}{a a a k a} \\
& =\frac{b^{4} c^{2}}{a^{4}} \\
& \text { (3) Simplify }\left(\frac{2 a^{2}}{3 y}\right)^{-2} \\
& \left(\frac{2 a^{2}}{3 y}\right)^{-1 \cdot 2} \\
& \left(\frac{3 y}{2 a^{2}}\right)^{2}=\frac{3 y}{2 a^{2}} \cdot \frac{3 y}{2 a^{2}}=\frac{9 y^{2}}{4 a^{4}} \\
& \text { (4) Simplify }\left(\frac{2 a^{3} b}{5 a b^{2}}\right)^{-2} \\
& \left(\frac{2 \operatorname{asan} \phi}{5 \alpha \beta b}\right)^{-2} \\
& \left(\frac{2 a^{2}}{5 b}\right)^{-1 \cdot 2}=\left(\frac{5 b}{2 a^{2}}\right)^{2} \\
& =\frac{5 b}{2 a^{2}} \cdot \frac{5 b}{2 a^{2}}=\frac{25 b^{2}}{4 a^{4}} \\
& \text { (5) Simplify: }\left(\frac{a^{-2} b^{2} c}{a b c^{-2}}\right)^{-2} \\
& \left(\frac{b^{2} c c^{2}}{a^{2} a b}\right)^{-1 \cdot 2} \\
& \left(\frac{b b c c c}{\text { acab }}\right)^{-1 \cdot 2} \\
& \left(\frac{b c^{3}}{a^{3}}\right)^{-1 \cdot 2}=\left(\frac{a^{3}}{b c^{3}}\right)^{2}=\frac{a^{3}}{b c^{3}} \cdot \frac{a^{3}}{b c^{3}} \\
& \frac{a^{6}}{b^{2} c^{6}} \\
& \text { (6) simplify }\left(\frac{-2}{3}\right)^{-2} \\
& \left(\frac{-2}{3}\right)^{-1 \cdot 2} \\
& \left(\frac{3}{-2}\right)^{2}=\frac{3}{2} \cdot \frac{3}{-2}=\frac{9}{4} \\
& \text { (7) Simplify }\left(-3 a^{-2}\right)^{-2}
\end{aligned}
$$

(8) Simplify $\frac{a^{2}}{b^{3}} \cdot \frac{b^{4}}{a^{6}}$

$$
\frac{a b \sqrt{6} b b b}{b b b t a c a c a}=\frac{b}{a^{4}}
$$

$$
\begin{aligned}
& (9)^{19}\left(2 s^{-3} t^{2} u^{-1} d\right)^{-3} \\
& \left(\frac{2 t^{2} d}{s^{3} u}\right)^{-1 \cdot 3} \\
& \left(\frac{s^{3} u}{2 t^{2} d}\right)^{3} \\
& \frac{s^{3} u}{2 t^{2} d} \cdot \frac{s^{3} u}{2 t^{2} d} \cdot \frac{s^{3} u}{2 t^{2} d}=\frac{s^{9} u^{3}}{8 t^{6} d^{3}}
\end{aligned}
$$

(10) simplify $\begin{array}{r}\left(7^{4} \cdot 7^{3}\right)^{10} \\ (7 \cdot 7 \cdot 7.7 \cdot 7.7 .7)^{10}\end{array}$

$$
\left(7^{7}\right)^{10}
$$

(II) Simplify $\left(2^{5} \cdot 2^{4}\right)^{6}$

$$
\left(2^{9}\right)^{6}
$$

$$
2^{54}
$$

